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SYSCALL blk_receive( char *addr, int max_length)
{

struct pentry *pptr;

char *msg;

int ps;

int len;

int 1;

disable(ps);

if (addr == NULL || max_length <0) {
restore(ps);
return(SYSERR);

}

pptr = &proctab[currpid];

if (pptr->phasmsg == 0) {
pptr->pstate = PRRECV;
resched();

}

if (max_length > pptr->phasmsg)
len = pptr->phasmsg;

else len = max_length;

msg = (rhar *) pph—/ pmsg;

{os \l J ]QILM i \)
addr[ ] =msg|[1};

freemem(msg, pptr->phasmsg);

ppir->phasmsg = 0,

restore(ps);

return len;



SYSUALD Bk sendf( int pd, char *addr, it Tength)

{
i

}

struct pentry pptr;
int 1, ps;
char *msg;
disable(ps);
if (1sbadpid(pid) || ((pptr=&proctab|pid])->pstate == PRFREE) ||
(msg = getmem(len) == NULL)) {
restore(ps);
return SYSERR;
}
if (pptr->phasmsg != 0) freemem(pptr->pmsg, pptr->phasmsg);
for 1=0; 1<length; i++) msg[i] = addr[i];
pptr->pmsg = msg;
pptr->phasmsg = length;
if (pptr->pstate = PRRECV)
{
ready(pid);
resched();
}
restore(ps);
return(OK);

SYSCALL blk_sendf( int pid, char *addr, int length)

{

struct pentry pptr;

int 1, ps;

char *msg;

disable(ps);

if (isbadpid(pid) || ((pptr=&proctab[pid])->pstate == PRFREE) ||

pptr->phasmsg != 0 || (msg = getmem(len) == NULL)) { '

restore(ps);
return SYSERR;

}

for (i=0; i<length; i++) msg[i] = addr[i];

ppir->pmsg = msg;

ppir->phasmsg = length;

if (pptr->pstate == PRRECV)

{
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reschéd()i
}
restore(ps);
return(OK);
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if ( sys_pcxget() == Q || lastkey(rdytail) < optr->pprio )
, AP 72 YY)
if ( sys_pcxget() == 0 || isempty(rdyhead) || preempt > 0)

y¥21 nptr = &proctab| (currpid = getlast(rdytail)) |; opna v
nptr = &proctab[ (currpid = getfirst(rdytail)) ];

preempt = nptr->pprio; ¥¥23 preempt = QUANTUM; 77w opn2
yx21 insert(currpid,rdyhead,optr->pprio); Dpn2
enqueue(currpid,rdytail);
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#include<conf.h>
#include<kernel .h>
int sema;

int xmain( )
{
int prA(), prB();
sema = screate(0);
resume(create(prA, INITSTK, INITPRIO-2, “prA”,0);
resume(create(prB, INITSTK, INITPRIO-1, “prB”,0),

}

int prA()

{
signal(sema);
wait(sema);
do_something();
printf(“a”);
stgnal{scmaj;



int pri3()

{
wati(scimay;
do_something_else();
printf(“b”);
signal(sema);

}

oWH MNP PR NrEpnen nww 1 do_something else() 1do_something() 235
? 7N1°2 2NN VWD 1R N NRMP

ab .1
abwba 2

7-1-51-n QUANTUM 5w 07y nR awn wnar gm0

no7YNa NWs By vawn 1 XY 1210 @

37 Y RT2W ana novvan 2
P> 2007 1AW °18% @hnnn 1 002°han
73191 AR WD AR

W



